Content Menu

package main

inmport (
"context"
"gi t hub. conf gogf/ gf/v2/frame/ g"
"gi t hub. conf gogf / gf/v2/ os/ gcron"
"gi t hub. conf gogf / gf / v2/ os/ gct x"
"time"

func main() {
var (
err error
ctx = gctx. New()

, err = gcron. Add(ctx, "* * * * * x"_" fync(ctx context.Context) {
g.Log().Print(ctx, "Every second")

}, "M/SecondCronJob")

if err I'=nil {

panic(err)

, err = gcron.Add(ctx, "0 30 * * * *"  func(ctx context.Context) {
g.Log().Print(ctx, "Every hour on the half hour")

1)

if err 1=nil {
pani c(err)

}

_, err = gcron. Add(ctx, "@ourly", func(ctx context.Context) {
g.Log().Print(ctx, "Every hour")

b

if err I=nil {
panic(err)

}

_, err = gcron. Add(ctx, "@very 1h30nf, func(ctx context.Context) {
g.Log().Print(ctx, "Every hour thirty")

b

if err I=nil {
pani c(err)

}

g. Dunp(gcron. Entries())
tine.Sleep(3 * tine.Second)

g.Log().Print(ctx, “stop cronjob "M/SecondCronJob"")
gcron. St op("My/SecondCr onJob")

tine.Sleep(3 * tine. Second)

g.Log().Print(ctx, “start cronjob "M/SecondCronJob"")
gcron. Start (" MySecondCronJob")

tine.Sleep(3 * tine. Second)
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"MySecondCr onJob",
0x14077e0,

"2021-11-14 12:13:53. 445132 +0800 CST m=+0.006167069",

"cron-1",
0x14078a0,

"2021-11-14 12:13:53. 44515 +0800 CST m=+0.006185688",

"cron-2",
0x1407960,

"2021-11-14 12:13:53.445161 +0800 CST m=+0.006196483",

"cron-3",
0x1407a20,

"2021-11-14 12:13:53. 445218 +0800 CST m=+0.006252937",
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" MySecondCr onJob"
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AddSi ngl et on

package nain

import (

14: 00. 443 {189cw 9ngkOcf p7l 8gcwci wl00sr 9cuu}
14:01. 442 {189cwi 9ngkOcf p7l 8gcwci wi00sr 9cuu}
14:02. 443 {189cw 9ngkOcf p7l 8gcwei wl00sr 9cuu}

"context"

"gi t hub. conf gogf/ gf/v2/frame/ g"
" gi t hub. conf gogf/ gf/v2/ os/ gcron"
"gi t hub. coml gogf/ gf/v2/ os/ gct x"

"t me"

)

func main() {
var (

)

_, err
Context) {

H

if err

}

sel ect

err error
ctx = gctx. New()

Every second
Every second
Every second
stop cronjob

start cronjob
Every second

Every second
Every second

= gcron. AddSi ngl eton(ctx, "* * * * * *"  fuync(ctx context.

g.Log().Print(ctx, "doing")
tine.Sleep(2 * tine. Second)

'=nil {
pani c(err)

{}
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= gct x. New()

:= gcron. New()

;= garray. New(true)
cron. AddOnce(ctx, "@very 2s", func(ctx context.Context) {
array. Append(1)

frmt.Println(cron. Size(),array. Len())
tinme. Sl eep(3000 * tinme.MIIisecond)
fm.Println(cron. Size(),array. Len())
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AddTi nesti mesSi ze

func nmain()

{

var (

)

cron
array

}

ctx

= gct x. New()

;= gcron. New()

:= garray. New(true)
cron. AddTi mes(ctx, "@uvery 2s", 2,func(ctx context.Context) {
array. Append(1)

fm.Println(cron.Size(), array.Len())
tine. Sl eep(3000 * tinme.MIIisecond)
fmt.Println(cron.Size(), array.Len())
tinme. Sleep(3000 * tinme.MI1lisecond)
frmt.PrintIn(cron. Size(), array.Len())
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Entri esasc

func main() {

var (
ctx = gctx. New()

)

cron := gcron. New()

array := garray. New(true)

cron. AddTi mes(ctx, "@very 1s", 2,func(ctx context.Context) {
array. Append(1)

},"cronl")

cron. AddOnce(ctx, "@very 1s",func(ctx context. Context) {

array. Append(1)

},"cron2")
entries 1= cron.Entries()
for k, v :=range entries{

fmt.Println(k,v.Nane,v. Tine)

}
tinme. Sleep(3000 * tinme.MI1lisecond)

frmt.Println(array. Len())

0 cron2 2022-02-09 10:11:47.2421345 +0800 CST n¥+0. 159116501
1 cronl 2022-02-09 10: 11: 47. 2421345 +0800 CST me+0. 159116501
3

Sear ch*'(* Ent r y)nil

func main() {

var (
ctx = gctx. New()

)

cron := gcron. New()

array := garray. New(true)

cron. AddTi mes(ctx, "@very 1s", 2,func(ctx context.Context) {
array. Append(1)

},"cronl")

cron. AddOnce(ctx, "@very 1s",func(ctx context. Context) {
array. Append(1)

},"cron2")

search

cron. Search("cron2")
g. Log().Print(ctx, search)

tinme. Sleep(3000 * tinme.MIIlisecond)
frmt.Println(array. Len())

/1 Qutput:
Il 3



2022-02-09 10:52:30.011 {18a909957cfed11680c1bl45dalef 096} {" Name":"
cron2","Time":"2022-02-09T10: 52: 29. 9972842+08: 00"}

St op(St op), nanmenanecr on

func main() {

var (
ctx = gctx. New()

)

cron := gcron. New()

array := garray. New(true)

cron. AddTi mes(ctx, "@very 2s", 1,func(ctx context.Context) {
array. Append(1)

},"cronl")

cron. AddOnce(ctx, "@very 2s",func(ctx context. Context) {
array. Append(1)

},"cron2")

frmt.Println(array. Len(),cron.Size())

cron. Stop("cron2")

fm.Println(array. Len(), cron. Size())

tinme. Sl eep(3000 * tinme.MIIisecond)

fmt.Println(array. Len(), cron. Size())

/1 Qutput:
/11
/111

}
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Renmpovenane()



func main() {

var (
ctx = gctx. New()

)

cron : = gcron. New()

array := garray. New(true)

cron. AddTi mes(ctx, "@very 2s", 1,func(ctx context.Context) {
array. Append(1)

},"cronl")

cron. AddOnce(ctx, "@very 2s",func(ctx context. Context) {
array. Append(1)

},"cron2")

fmt.Println(array. Len(), cron. Size())

cron. Renove("cron2")

fmt.Println(array. Len(), cron. Size())

tinme. Sl eep(3000 * tinme.MIIisecond)

fmt.Println(array. Len(),cron.Size())

/1 Qutput:
/1 02
/Il 01
/1 10

}
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St ar t (Add), namenanecr on

func main() {

var (
ctx = gctx. New()

)

cron := gcron. New()

array := garray. New(true)

cron. AddOnce(ctx, "@very 2s",func(ctx context. Context) {
array. Append(1)

},"cron2")

cron. Stop("cron2")

tinme. Sleep(3000 * tinme.MIIlisecond)

fmt.Println(array. Len(), cron. Size())

cron. Start("cron2")

tinme. Sl eep(3000 * tinme. MI1lisecond)

fm.Println(array. Len(), cron. Size())

/1 Qutput:
/1 01
/1 10

}
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	定时任务-基本使用

